OO

PART-A
BOTANY
Maximum : 30 Scores

Score
I. Answer all questions from 1 to 3. Each
question carries 1 score, (3x1=3)

1) Observe the figure and identify the
asexual reproductive structure,

2) Name the award given by the
Government of India to individuals
or communities from rural area for
protecting wild life,

3) Observe the relationship between
the first pair and fill up the blank
using appropriate term.

Unisexual male flower : Staminate
Unisexual female flower

IL. Question 4 to 14 answer any nine
questions from the following. Each
question carries 2 scores. (9%2=18)

4) Gradual predictable changes in the
species composition of a given area
is called ecological succession.
Differentiate primary and secondary
succession,

Time : 1 Hous
Cool off Time : 10 Minutes

Score
I 1 oom 3 cuenwgg aggo a.niom)
mimwma.mm
@refimie 1 anpod allme. (Ix1=3)
1) moov mmidleam alme faalle 5 Y
meneowd (wWmymaIem saism
goIms,

2) aumnymlall oo s emam) m oo
ol ou d vl ey o, (3d|Isanamg
2488 aeniledenio majanmmmio
Dmjonmeadd agdeqsomal
Adey eocuodl agyat ?

3) majeam emodalleyes IBAEIOS
fumbe amqflense] allgieniom are
ay Bl flaeyess.
agsellow) @pend aijoxensed : oyodiemy
agellon aolend allnemmcd |

II. a210a)0 4 -14. ageosleyjo adaiar
Golorjmldes prmonay)me. aiano
d.asoajemimie 2 eayod allme. (9%2=18)

4) amy ldemyes: uanweaem shalcudon
aflen yo oo e o’ (aime@asw)e
(S:CDEM@IVWIo Momallsnym
DOQEMBEoEM” Dawe 8K eed
TSV, (aloLodl uesmasmo
sflml@ me'mamioe ™l el g
Uy ome agym ?
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Score
5) Observe the figure and label the

parts. A, B, Cand D.

6) A nematode infects the roots of

tobaceo plants and causes a great

reduction in yield.

a} Name the nematode

b) Name the strategy developed
through biotechnology to prevent
the infection of nematode,

T) Observe the equation given below.

I N.PP. = G.PP - Respiration J

a) What does N.PP. and G.P.P
stand for

b) Define secondary
productivity.

&

Score
5) aynies mmidlenm alme odl
#sll2] A, B, C, D agym acsusqisond
wilénym somemd eomsammye..

I J/ ~—{— Hypocotyl

T
N o o

6) ary dlasgoufaf epamo
midlamo oyl aaidwies pejpame
temymomll ey omyormy,

) mo coegoadlen sod
L EETRET ng) Py,

b) nflaegoadied mrisaeme mswod
aoma mesalse allajols)es
Alemieflo.gsiem astpaniad
Bold ngycat ?

) ayaies ermldeom macsse
ridleailend.

L NPP.=G.PP_cpwme |

a) N.P.P, G.P.P. o agosilom
trupallefleayom; ?

b) ajeile DLjIRMEHmm
il aNlen)e.
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8) Match the following : 8) scumonid] 8ot !
Breeding techniques Definitlon
inJmmem achgemch mlbeu.aime

Superior males of one breed are mated with
superior females of another breed

Inbreeding 0 merd cuymyy memgdon Uyenaam
phienloflecy el e oalerh genemdh LE - ENTTY
InmymieoEme

Male and female animals of two
different species are mated

iy | oo cuymyny mfesicnfiess apert, erlerd
dlafled mazleygs nmymnloame

Out Crossing
avg ae:omiletd

Mating of more closely related individuals
within the same breed for 4 to 6 generations
an pnoas 4 god 6 uen Mo

Cross breedin
A i) |egow cugen msyem summes e,

al@normy (srflouflouy
, eelen sfinfecd mafleyes wimyjaiaoeme
Mating of animals within the same breed
but having no commeon ancestor
Inter specific hybridisation 2,00 CRNOSEW] H00m; aydalsd
b eqymiiadles oeanisn iv) | gajoom o, ealed sl mafeies
fOOLBIAHT

fmyain loamo




Score

9) The given figure shows a sequence
of DNA that can be cut down by
restriction endonuclease.

Vector DNA

YNNG,

Sticky end

a) Name the sequence.

b) Write down the name of
restriction endonuclease,
which recognises the above

sequence,

10) Transgenic animals can produce
useful Biological products. What
are transgenic animals and write
two biological products produced
by them ?

11) Observe the table given below
analyse the effect on species A and
species B and identify the name of

Score

9) enigflesid pomoriindeoams adleaomd
muowlemyrm DNA egzeriaoent mony
amariidleammae.

Foraign DNA

TN

[

?ﬁﬁ‘ o\

a) ouUBeTues GnlOmymid,

b) almeld mordldesm DNA
ageen el oyclaym eoimflesid
@omaUT@Ies i@ ag)im)ds:.

10) sodmiamails’ aynemeg palcwo
el pewoskm RmIW aldl OO
pa|Mmemtt pemosna moulenio.
sodminmafle aynamd agmond
agoa ? @ecy 9elodlaflenim oens
PERO DRIMETBRIOS Gl ag)SImiss.

11) apues emiges aige rides o]
mflasfiod” A, mflesflony’ B goou anadl]
eyes eumwe amqflanssd meool

interaction, 0e alOMyeoRem) daflwes sald
PO,
Species Species Name of Interaction
qflasflons qflaslong’ A L@T o

A B

ST . -
i 0 b
+ g3 c
= - d
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12) Steps involved in the process of
decomposition are given below,
Construct a flow chart showing
correct sequence of decomposition

choosing the words from the box.

Detritus, Catabolism, Humification.
Fragmentation Leaching, Mmeralisation
LA T

A7

I Detritus }
1

| |
+

| . ]

| . |

| |
+

| Mineralisation _i

13) Observe the figure of a cloning
vector.

TS0 A

Score

12) gNdemm |wloeies alalw
nalgamRgdaT apnies morldlanmei
ceragylmd ol galimesw alGsmd
wlasemnsjom = Aemm (|
DS caIgamul (dlwsw Sl
paasam! & agi1 alsdg
rrﬂﬁ'ﬂ')]:f;:l_' o i

awSomi, aogeenioglme, anyaad
Galnd, inoouinmeihaund, eflolosrd,
dimoOselema

! aElgmi |
T

-

[ dmoseessmasd |
13) ayaies momigiea eny egeflow
auROes aflmo ofldlelene.

EceR - gja |__Hind Il

a) ldentify the cloning vector.

b) Write down three characteristic
features of the above cloning
vector,

a) agyoenilord eudgcilad Gnid

) 2B

b} ool cmfﬁmuﬂgg_% eggoeniloud
euaglanng ayrd ruallevsamme b
gy mds.
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14) Predation is an interaction which
has great significance in nature,
Write down two significance of
predation.

I11. Question 15 - 18, Write any three from
the following questions. Each

question carries 3 scores. (3=3=9)

15) Use of nuclear energy has very
serious inherent prohlems due to the
production of radioactive waste
a) Write three harmful effects of

radioactive waste
b) Write one measure for safe
disposal of nuclear waste.

16) Observe the figure given below.

~
@
@
Lyt
a} Name the process.

b) Write the stages involved in this
process in correct sequential
order.

Score

14} (usyeialed cugen plowommeas &m)
ALY DoET ga fiskome. Smal
Slamanfled neae moallettnt mdaod
BTl

111, eamnay 15 -18. agemelayo ajrm) a.oim)
SRUbES DU ag) P dh. BI8mTTIm)o

3 epod allmo. (3x3=9)

15) mmemou gohezawlen Haltwine
eoaflows aodgglal maelo e
DEPAMATHIT SI0EMEBISTY,

a) ecaflswo myLglod melmiemains
ayrmri @E0nH CUUIETR0D af) .

b) encdlews ansgind moellmismaes
myaesl oo ofldanodssmnans

migs ey Al ag)eim)e.

16) maey molalenim allime mia)

el B e,

) e el agmos T ?

b) 07 Eioaes allafw ceigemed
1T af) P,
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17) Biofortification is the most practical

means to improve public health.

a) Write two aims of

Biofortification.

b) Write the name of biofortified
crop which enriched with

vitamin A.

18) Natural aging of a lake by
nutrient enrichment is called

eutrophication.

a) Name the enhanced aging

process due to human activity,

b) Write down two conseguences
of eutrophication in water

bodies,

(AR EFOR R

17) enJomysmosnow jo aa.gealsiamy M
mas an) (Jewowle aodgasen’

SUaW G0t ad ananch,

a) suswosnoobgladlesnnund nend

Blani \6TR0D ng)Sumids,

b) suewosnnsbgladlesnnumt Ul
aflemiaflegisiem algodnd A

mmegew algwes aud

0g)$mds.

1 ﬂﬂsuawmuﬁmﬂmms;mmqm
msodemgiat rvornlenymn mupeanlle
aqadlotilam wissadleanaund agmy
0@y
a) mmjadmies MHseaIsHd ojelo

msanim ool wlaes
wWid(Soanlesn el Gnla’
AGYSLDLs,

b) wiesoadleanavand aneimsl

HWEIIWITETBIBSEMROH)M DETE

GEIAHETRUD o) Sl
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PART - B
ZOOLOGY
Maximum : 30 Scores
Time - 1 Hour
Cool off Time : 10 Minutes
Score
Score
I. Answer all questlons from 1-3, Each 1.1 =3 AORWI80 ngpo .00 0moban)s
question carries 1 score, (Ix1=3)  699%0 02,00 jamsleryo | aryod
(Ix1=3)
1) Name the loose pouch of skin 1) mmenlacuod]maeb esoc il es oyommon
which suspended testis outside the UK Em S T OaonflenTny croyaaf.enymm
abdominal cavity, e aibamo
2) Crossing of an Fi hybrid into its 2) Fi oonoimilango arafioq o mmiad
recessive parent is called anieniie maxleygs amanied an e
a) Back cross 8) enioae amomi
b) Test cross b) esgy agsomy
¢) Codominace C) amosowodlmmi
d) Incomplete dominance d) pdamogley swonimmy
3) Find the odd one out 3) sysoniad agegs wo6e aloommm
a) Zoological park S
b) Botanical garden a) meaoasienm wohee
¢) National Park b) eeuogoeieens wodndd
d) Cryopreservation C) monvemad aiodee
d) wewopmdennud
IL. Answer any nine questions from 4-14, I1, 4 et 14 W“MM““M
Each question carries 2 scores, 9‘mﬁwmm
(9%2=18) tatanyomionie 2 apod allne, (9%2=18)
4) Galapagos Islands play a significant 4) udemoaames 1IRI0800 Alla b
role in Evolution. Substantiate the B riwom amyens. muadmdlenes,
statement,
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5) Note the relationship between the first

two words and suggest a suitable word
for the 4" place.
a) Female ~ Tubectomy, male

b) AIDS-ELISA, Typhoid

6) Lichens can be considered as industrial

pollution indicators. Give reason.

7) Observe the given diagram and answer

the question.

3
—~ 53
~§nf —
}
C C
a) ldentify the molecule. (1
b} Name (1) and (2). (%2 + 14)

8) Mothers milk is considered as very
essential for a new bom baby.

a) Name the first milk released from
the mother just after birth.

(1)

b) What is its importance ? (1)

TR T
Score
5) mpayeom oemy (IENmaIes suUMbe
am@plassnIwewats cwomlay
MOBIDMETN CUISE £aenaia 1€lan.

a) (mfl — syeuesdl, almnsnd s A
b) AIDS - ELISA, sesenosaio

6) eeasomiseg aelldilanem myal

EEBRIN ST, EOEMe AW,

&

T) alime yyadle] pemao ag)im .

(1)

(2)

a) o0 mmamew ooy (1)

b) (1)~ (2) agerrilcu meswag
Bl Sy (24 13)
8) moumom wlinsaten aromoes womh
WM IOWIC Sl MDIET,
a) aeysloes wmmevtao @ome)
gﬁmﬂﬂqﬁdﬂ!{m awa) aloelad
erJamoT ? (1)

b) @ anelog wowsmeamr ? (1)
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Score S
| core
9) Microbes can be used as source of 9) ey sl
) _ : &R & e
energy. Justify the statement, D] Qﬂmmc’mﬁag&uﬁ' mcgmm:"a"
60D Madmdlens,
16) Introduction of the African cat fish 10) <10
&
for aquaculture threatens biodiversity Qimm?:imﬂm?;aw ‘e
my

loss. How ? Fnsteniiosonens’ agemeam ?

1) Analyse the figure , find out the error 11)
allime altlewausae, amE) B:ana)

and correct t. adig)o ] afleymrmye,
(e0aflasnnum)
Replicati
plication fﬁﬂfﬁﬂﬂbﬂﬁiﬁﬂi} (isorbnioeinscd)
Transcription slati
(\> Protein  e——p mRNA Mﬂ DN
(aiuadlad) &

12) The diagram given below show a 12) DNA ayos an ®onoad almaser
segment of DNA, Label the part (a) Hues adosiomidenmal. (a) aye
and (b

(b) (b) wo sowemR TRSWOBOAS) MM,
: ®
T
(1+2=2)
a b
13) Drosophila is an ideal material for 13) avely) moiimae, alomamfloy aemye
- wo
genetic study. Give 2 reasons, :‘nm‘;tmwaiémam: r:m‘8 -
SHOMEMETRID
QgyS1m) .
W
WD Quick View

Drive Name [Volumes] Used Temperature
WDMyCloud [WDMyCloud] 3%  OK



Score
14) Observe the symbols below.
a) [ b
1) Identify a and b. (Va+'2)
2} What is the use of these
symbols in gentics (1)

1. Answer any three from 15-18 questions.
Each questions carries 3 scores.
(3x3=Y)

IS} Match column I, I1, and 11

Score
14) o @oemym aflamensud
Gorallead.
a O b |
1) o ayo b aye aild ooy
(vatli)
2) molmexeomaric s alanieriad
(o ynamen ? (1)

L 15 qymad 18 cuecw)gg calonysmgld
aflomye AIOMERo ag)#Imj. HIGOITIM]0
3 sapad allae. (3x3=Y9)

15) caoao [ 11 1 goos segonud o 1teas.

Column [ Column 11 Column 1
(a3g0 I) (a#2go 11) (a@oge 1I1)
Morphine Trichoderma Immunoesuppressant
(eaodindiad) (pessenowdan) |  (@apyaemImilmcE)
Statin Poppy Sedative
(grodine) (3o (emvenndial)
Cyclosporin Monascus Cholesterol lowering
(smegymitaddid) | (aasemamisems) | (aeogmitisotd eyomymMy)

16) Suggest any 3 methods to assist
infertile couple to have children,

17) Whatdoyoumeanby anthropogenic
action on evolution ? Give one
example of anthropogenic action.

(1%a+114)

18) The genetic disorder is caused due
to the presence of an additional
copy of X Chromoson

a) Name this disorder —

b) Write the Karyotype of this
disorder

¢) Suggest any one characteristic
feature of this disorder.
(1+1+1)

16) cumuymuias Oemetbas E)gledd
pEnEOCLOMEE @iy madpemEdd
riidequlland.

17) udlsmommrflad ‘Ememosalossrilas’
apand af)Mme&HIeeIas HeGle

il

(1'4+1')

18) moufleooni any X s@002Mu30
06MeIn ST By Borilmes
OGN,

QTS0

sa) 0 Brimes Moo L)
alldlanis.
b) malaf &odlcwonnsa]
g2,
c) @7 mollos aaroded sy
uyeord Qlletsntio afyFimids:.
(1+1+1)
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